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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any seven questions : 1x7=7
ezt rest e Tew fra ¢

(@) Who coined the term ecology ?

T *HCB! (@I AU IYT IR 2

(b) What is ecotone ?

TR 2
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(c)

(@)

(e)

(9)

(h)

@)

What is endemic species ?
e galfs & ¢
What do you mean by a species ?

ORGSR G

What is a cladogram ?

gwam & ¢

What is climax community ?
e ey 2

What is binomial nomenclature ?

ﬁﬂﬁW‘T‘%ﬁﬁ‘?

What do you mean by chemotaxonomy ?

e (A g T

Who proposed the natural system of

classification ?

mﬁﬁw%ﬁémamwm
& ¢
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() What do you mean by Taxonomic

Answer any four questions :

key ?
e TP R I B3 e

2x4=8

Rtz S1Ab! e Tel foral ¢

(a) What are the basic components of an

(b)

()

(d)

(e)

ecosystem ?

SRcEeIe SR T SAmER [ & 2

Distinguish between the energy flow
and nutrient cycling.

w59 oI o (ST Bere e T ol
Why is pyramid of energy always

upright ?
g Prifie wmm Py dR = ¢

What do you mean by Biogeochemical
cycle ?

o1 g-aPIREe b e fF g 2

Write the importance of Herbarium.

TS oo SRETFer R F
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3. Answer any three questions :

What is typification in plant
taxonomy ?

Tfews 3N Rwgre Bizet 1 T et & 2

Write the different types of plant
classification system.

Sfaw 3R Rifow R & R 2
What is a food web ?
qgea & 2

5%x3=15

Rtz forvt e TeT fordl ¢

(@)

(b)

(c)

Describe the adaptations of
hydrophytic plants.
oTe SIEHT SRR I 1|

Describe the ecological pyramid in an

ecosystem.

SREOT PRI 39 =1

Write notes on endemism of plants.

i eifes fac G
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(@)

(e)

(9)

(h)

Mention the rules of binomial

nomenclature.
fa-oit e AP vt

Elaborate the role of cytology in plant
taxonomy.

Sfere s @IRwis et forl

Discuss the principles of priority and
its limitations.

T iR e waifdeRe @ i ]
Ramor Raca IR fra

Distinguish between phenograms and

cladograms.
@R W% @O A WSS IR ‘Vﬂw

fora

Describe the Shelford's law of

tolerance.

CRETRES SO TG A
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4. Answer any three questions :

10x3=30

ezt fofavr e e foral ¢

(a) What is Plant Succession ? Describe

(b)

(c)

(@)

the process of Plant Succession taking
example of a xeric condition. 1+9=10
Tferr S & ¢ Sfevm Sgewd =
T SR FEES J@i2

Describe the ‘Y’ shaped energy flow
model in an ecosystem.

ARTIOFS Y’ AT =& ez 36 =41 |

Draw and describe different types of
ecological pyramids.

Rfon o HARcTeE PRffong By
F2RIE IR ferdh)

Describe either ‘carbon’ or
‘phosphorus’ cycle on earth with

schematic diagram.

el 41|

(e) Discuss the Phytogeographical zones
of India.

oReTH I Tfgr A A (Sl
weseyR R 39 F1

3 (Sem-4/CBCS) BOTHG/RC/G 6

0

(9)

v

Elaborate the role of palynology,
cytology, phytochemistry and
molecular data in plant taxonomy.
Tiewe s RIRWI, PR, st TN
Rl o SRE ©UR gl 3 4|

Discuss the merits and demerits of
Bentham and Hooker’s system of
classification. 5+5=10

@R IR AEey Tl =%
SEPCAIAORTR IZFL ST F |

What is Operational Taxonomic Unit
(OTU) ? Describe the role of numerical

taxonomy in plant taxonomy.
1+9=10

AR GFART e (AB) B 2
SR e Rigre FRroy AR g
3 3=

3200
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